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CERTIFICATE IN PRIMARY CURRICULUM 
to AND INSTRUCTION (CPC) 

Module 2 of DPE 
O 

Term-End Examination 

December, 2017 

ES-212: INTEGRATED LEARNING AND 
TEACHING IN PRIMARY SCHOOLS 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All questions are compulsory. 

(ii) All questions carry equal iveightage. 

1. Answer the following question in about 
600 words : 
What do you mean by 'Integrated Learning 
Approach' ? Explain the need of an integrated 
learning approach in primary schools with the 
help of examples. 

OR 
What do you understand by direct instructional 
strategies for large group learning ? Describe any 
one strategy for direct instruction that you would 
like to adopt for large group learning. 

2. Answer the following question in about 
600 words : 
What do you mean by interactive instruction ? 
Discuss, with the help of examples, the steps in 
conducting the whole class discussion. 

OR 
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Discuss resources that can be used for providing 
experiences for integrated learning. 

3. Answer any four of the following questions in 
about 150 words each : 

(a) Discuss the ways in which children process 
information. 

(b) Explain how integrations of the senses can 
facilitate learning among children. 

(c) How will you plan out 'team teaching' ? 

(d) Describe the criteria for selecting a theme 
for a 'project'. 

(e) What criteria will you keep in mind while 
grouping the children in small groups ? 

(f) Discuss the role of field visit as an 
experiential learning strategy. 

4. Answer the following question in about 
600 words : 

As a teacher, discuss your views on using 'Field 
Observations' in the teaching - learning process. 
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